TI-BASIC Programming

by Ray Perry [Raylin]
Lesson 1: Parameter Passing
“But, Ray, why do some tutorials show the HELLO program with the ‘Disp’ command in front of the message?”
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That’s because we did something special. The technique we used is called “parameter passing”. This is when we use the last calculated result, Ans, to show our message. 

It works like this. 

Go to the home screen and type anything (without creating a SYNTAX error).
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Now, press [2nd][(-)]. <- (negativity key) And, press [ENTER].
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See how Ans is the same as the last thing we typed in? This is the concept we used in the HELLO program except our message (“HELLO WORLD”) was the ‘parameter’ or Ans.
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So, to recap, the ‘parameter’ or Ans can be anything that the calculator can calculate. Matrices, lists, strings (what our message is), numbers, whatever. So, say that we wanted to evaluate an expression based upon what Ans was. Here’s what we’ll do. 

Create a new program and call it FORMULA.
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Now, we’ll make a formula that will manipulate Ans. 

I’m putting “(Ans*3) + 22” in mine.
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Now, go back to the home screen and type in a number.

Press [ENTER].
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Now, run our program and see what happens. (
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Ans = 25.

((25)*3)+22 = 97

Ans = 97.

If you press [ENTER] again, 97 would be expressed in the formula now, producing an answer of 313.

Cool, huh?

This concludes Lesson 1! 
Concepts to take away from this Lesson
The ‘parameter’, Ans, is like a wild card. It can become anything.

This makes it the most volatile and flexible variable in the calculator.
NOTE: ‘Parameter passing’ can be used on any variable. (i.e. A,B,C) However, only Ans can contain any type of data.
